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Sl. No.1
QBID:1555021

Choose the correctly spelt word.
(1) Defalcation

(2) Difalcation

(3) Defalcasion

(4) Defalcatation
FpfafEs & gy ves &
(1) 3

(2) el

(3) =

(4) 99

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.

A. Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones,

Choose the correct answer from the options given below :

(1) C.A.D.B
(2) BAD.C
3) B.C.A.D
4) C.D.B.A

9 & U= U T §: U B UF (Assertion A) & =9 H 1G4 § T G8RT 39& PRUI (Reason R) & 3 H:

HAEHYA A : SPRIA T WIS S |

PRUIR : Wb T IS | $© Wea 3UATE BI &, SUINCTY SPRId ok! g H Il W e § |

TR S & el 1, A1 ey 7Y fased! o ¥ Ja9 S9gad SR 31 90+ Bl |

(1) A3RREF TGl g AR R ADI TSI SATET &
(2) A3RR A TS E APTR A D G AT AL ®

(3) ANRIE UlBIR I -6l §
(4) ANEITEI g dPAR TR

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

Sl. No.3
QBID:1555023

Choose the correct sentence.

(1) We went to the station to see them off.
(2) We went to the station to see them out.
(3) We went to the station to goodbye them.

(4)




We went to the station to say them goodbye.
1 € FuF foy T & 05 AfUFUT (Assertion A) F w0 H fifEd & @ gEX I9F FRU (Reason R) F ¥ &

HHFUA A - T Teg VAR E |
BRO R ; o soRid e 2 | AT o smri Tee ofdT 78 50 § |

S HYF & a8, 7 Gy M fawed § ¥ 999 Suge IR &1 99 S
(1) A JRRIFE ¥ § IRR, A ¥ 98 I B

(2) A SRR SH a8 2 3fea R A &1 9 ogrem 78 2

(3) AT EBIR WE T &

4 AT wig AR =@

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]

Sl. No.4
QBID:1555024

Match List T with List IT

List I (Wood) List IT (Synonym)
A Ipervasive I |flter
B. [sieve II.  pwidespread
C. |potent III.  |netting
D. imesh IV.  |powerful

Choose the correct answer from the options given below :
(1) A-L B-I, C-IV, D-III
(2) A-IV, B-1II, C-II, D-1
(3) A-IV, B-I, C-III, D-II
(4) A-IIL B-I, C-II, D-IV

= 1 1Y Gl 11 BT e Hifey

AT 1 T 1

A [PTR e L[t e

B. [@3Ydcil il EEISEIEG
C. [els GeFl 11 [fFe & IR TR A1
D. [@Faol dal el IV, [4e Td o

19 fGu 7Y fasedl O U Hel SR &1 98- Biforu:
(1) A-IL B-IIL, C-IV, DI
(2) A-IIL B-IV, C-I, D-II
(3) A-IV, B-I. C-II, D-III
(4) A-I, B-II, C-III, D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025

Which two of the following are in correct form ?
A Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema. shan't we ?

Choose the correct answer from the options given below :
(1) A and D only




(2) A and C only

(3) B and D only

(4) B and C only

fomarr fFrag d s £ 2
(1) TFE ug

(2) RO erg

(3) T HIg

(4) T U1g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
QBID:1555026

Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

I I TERE EA- WM A T ?

(1) &= =fomia St T8

(2) T5pa § off sieElT S AR E

(3) wIfFaaTE® ISR giedT §97d sgag- | ded of ot 2 |

() fodl TG Ofi wsi &1 agae o9 S R0 T & R W T I E

1[Option ID=19285]
2[Option ID=19286]
3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Identify the correct indirect narration for the following sentence :

"Who now." they had asked, "Will listen to our troubles and protect us from the crocodiles” ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.

fore e &1 IR 2rifd wfa ve 9 81, 5§ digey 99 ®ed § | S99 Jaree g |

A gfagEa
B. S&umguf
C. 9gis
D. Sydars=T
E. 3o H
A fau o fgsedi # § 999 Suged ST’ &1 999 BifeE
(1) @A, B.D
(2) ¥T B, C.D
(3) FTWC, A. B
(4) @D, E, C

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]

Sl. No.8
QBID:1555028




Which of the following is a one-word substitute for 'safe to drink' ?

(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

AT 39 TS &1 T § & S0 vaiaa weE § 7
(1) TH&E

(2) f=e

(3) THY

(4) wEw
1[Option ID=19293]
2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under
(2) below
(3) abowve
(4) beneath

FpfafEs & 9w v © -
A, TEEHRED
B. frum
C. iR

D. e
E. TafE

Fi= Ry Ty Femedl H ¥ waE SUged SR @1 909 SI
(1) $TWA. B, C
(2) $3@B.C.D

(3) F@WC.D. E
(4) 3TTA.D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]

Sl. No.10
QBID:15550210

Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

B[E 919 F1 9949 FIY |

(1) OF BE B GEAE E

(2) =1 § & U@ s & |

(3) WS BE B I L |

(4) B & I0® 91 & & |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11




QBID:15550211
Amid economy erisis and political turmoil in Sr1 Lanka who has been appointed as the new PM of Sri Lanka.

(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

st & anfifes Tare wd ot sifa & dia dicie 31 7ar weEE e g femmm g o
(1) Faret R

@) e fawaRy

(3) Hig=T IAoue

(4) TCTSRIT oal

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212

Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country in
East African Community ?

(1) Samia Suluhu Hassan
(2) Agathe Uwilingiyimana
(3) Sylvie Kinigi

(4) Sahle-work-Zewde
RT3 AP BT 9g YR T50 B4 aTel UUH Afpar SR gdf el 9qgm ¥ SN $ §NeR WIE 91 ard aied Al S 541 7
(1) wfaT g ge8
(2) spma SRRIRREm
(3) foeat fpfrh

(4) 9540-3F 99

1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213

India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in .
(1) India

(2) China

(3) UAE.

(4) Egypt

SRR YT TIE HeyA acs $Y 2022 H YR = TYH R Ui oo, foreeT smie Fgamen:
(1) HRx

@ =9

(3) Us.

@ foy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

‘Who has won the Men's Single Title at 79th Edition of the Italian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovic

(3) Rafael Nadal

(4) Roger Federer

I F Mo gerfieme oo % 798 Sen & gou o ¥ uea faas &1 fEaa ot 2




(1) e TR
(2) FEw FifhE
(3) wika =™

(4) IR R
1[Option ID=19221]
2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

fyefen Famme g1 wEgE F5E S9E 2022-23 F ogaR a1g o @1 e gfE &1 ogAE e g 2
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216

All the intellectuals are very emotional. because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :
(1) A. D Ouly
(2) B. C Ouly
(3) C.E Ouly
(4) D.E Ouly

TR gfEsidl 9ga WIS B &, ;e

A, g ard uih F
B. § difés wmfi & |
C. ¥ Tfireig st &
D.3EEEE § |

E. SO ETE |
#r ey U ewedt # ¥ 9aY SUgad SR &1 90 SIT:
(1) FTTA. D
(2) ¥T@aB. C

(3) FIWC.E
(4) $90D. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217




Choose the best options for football players :

A. Player "XYZ' shows team spirit

B. Player "XYZ' have sportsmanship

C. Player 'XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :
(1) A. B, Conly

(2) A and C only

3) B. C.D only

(4) A, B.E only

Feal & fEanisdl & fau gdion fdeeg AU |

A. fEarE 'Xyz dm vy veRfa s g |

B. B@E 'XYZ # Su- 4 |

C. fmrel 'XYZ' # s Snwewi S ufa g B |
D. f&EaE 'XyZ oo weftid sxan & |

E. fEast XyZz i weitfa st |

2 fag u fawedl & § vo9 Sugs S &1 994 S
(1) $TT A, B, C
(2) FEaA R C
(3) $aUB.C.D
(4) ¥T8 A, B.E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
QBID:15550218

A person can learn Sanskrit without a teacher :

A. Tt is not possible learning Sanskrit without a teacher: as it is a technical subject.
B. It is possible to learn Sanskrit as it is non-technical subject.

C. Anyone can learn it: as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. C and D only

(3) A. B and E only

(4) A and D only




B3 aafaa T3 fedt srams & depa | 9ea &

A. &1 sras & Tepa die 9nE 9§ wifE 08 0F aeiel e
B. ¥%Fa di@ 980 & w0ifF 9 te IR-asE fug E

C. 59 &1 4 dim O5al & F0ifs 75 $90 U6 HI & |

D. T8 &5 e 3 tuE ¥ e e oo & A § O o 9Eat B
E Tty oms oo el fea & Rro e &

4 fag Ty el § 9 WaY STE SR @1 90T S
(1) Faa A R E

(2) FE@ B, C 3R D

(3) $TWA, BRE

(4) Fam A ¥R D

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
QBID:15550219

Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement II : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

i &1 e ey M B
FUF | : Tl & guw &1 W SREH 9o & 91y § 9eE o 96l ¢ |
FUF 1 ] : 9N SREH @AH-TgHT 397 H3d & AX W & o 96 ¢ |

Iulled B & A H, A 3y T fawedl # § wed Suged IR &1 904 S
(1) Fy=1 RIS W &

(2) 2 [ R I1 M Taa &

(3) ®YA 198 & A Sy 11 7Tod &

(4) T TOA 2 AfFT U [ TS 2

1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
QBID:15550220

Give below are two statements :
Statement I : Education is important for both male and female.
Statement II : Government must encourage co-education, as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct




R sufarme
FYA 1 - U 3R Afgene, I F e R weagei § 1
FUT 11 : TR = T5-R1e F1 didme= &1 91fey wife 95 251 & e & {1 smwe § |

SR FUF & A H, A U T Aeedl § § 999 Suged SR &1 90 S
(1) &Y= R I <1 9 &

(2) [ iR 11 EMf Toa &

(3) ®Y 1 & &, e &y 11 7o &

(4) ®Y= [ 7o B @i Bu 11 981 8

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

SI. No.21
QBID:15550221
W 5 i then the value of , 1 s
X +—==2 i
o =
(1) =2
(2) =8
3) =1
4) =4
aig 1 Gl 1 HHE G-
X +—==2 X +—
X x
(1) =2
(2) =8
3) =1
4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:0.

Reason R : If the surface areas of two cubes are in the ratio 5; : $5. then their volumes are in the ratio  §2# - 577

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Ais true but R is false
(4) A is false but R is true

9 & U= U T §: U B UF (Assertion A) & =9 H [11Ed § T G8RT 3% PRUI (Reason R) & ¥ H:
HUHUF A : A% S U1 B TG DT ST 3:27 § A 3P TG AADA BT ST 4:0 T

BRUIR : (G G 971 & Tds &FDA DT A S, : S, & A 3D ATIA DI AT 52 - 572 BT

IRITd FYA & AP 1, 4 U 7T [dwedt T T I8! IR &l 909 DI |
(1) ASRREH TAT IRR ADI TG O §

(2) A SRR aH 9 8, Al R. A &1 Tg] ST 151 §

(3) AYTE AfFIR ATA R

4) AT L APIRTAR

1[Option ID=19257]
2[Option ID=19258]




3[Option ID=19259]
4[Option ID=19260]

Sl. No.23
QBID:15550223

If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) §:27

(2) 75:32

(3) 32:75

4) 27:8

af il g Bt SIS 3R SMYR BT B HHE: 50% 3R 25% TG {391 91 dl IR R 7R 74 [ & SHTad= BT HJUK G -
(1) 8:27

(2) 75:
(3) 32:
(4) 27:

~1 s
[ )

=]

1[Option ID=19261]
2[Option ID=19262]
3[Option ID=19263]
4[Option ID=19264]

Sl. No.24
QBID:15550224

The probability of selecting a vowel from the word TRIANGLE is -

(1)

(2)

oed TRIANGLE # § u% ®R 977 &1 wiafear 1 gril-

1)
(2)
(3)

(4)

COlth GO0 GO e~ o ] 3 LA SR BD = ] ke

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]

Sl. No.25
QBID:15550225

1f one root of quadratic equation 2,2 _3, 4 (2k+1) = 0 is five times the other then the value of k is :

3
1) —
16

(2) -

oo | alw

(3) -
3
4 -
8
SEIHE FHIDRW 5.2 3, 4 (9 1) =0 1 TP 7A GEX BI Uil TA1 & &l k P AN 51 811 2

3
1) —
16

3
2) ——
16

(3)




[#%]

3
(4) -
g

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
QBID:91914241

If f{t) = 2, compute £ (99) and f{(101). Between those times, what is the increase in f divided by the increase in t?
(1) 99

(2) 100

(3) 199

(4) 200

afe f(t) = 2 B Al £(99) TUT £(101) BT TH F1d BITOITI 34 TG & 19 £ S TH T 98 D1+ P T4 H s T YT &3 W ed FIEID
(1) 99

(2) 100

(3) 199

(4) 200

1[Option ID=22301]

2[Option ID=22302]

3[Option ID=22303]
4[Option ID=22304]

Sl. No.27
QBID:91914242

When you jump up and fall back your height is v = 2t —t . Find the time in the air and maximum height.
(1) Time 2, height 1
(2) Time 1. height 2
(3) Time 2. height 2

(4) Time 1. height 1

O 39 S| & 3R 36 © d a9 =11 B 3R R §. 9@ TS y = 2t — £ 1 §a1 § f§ar ¥y 9 siffean avam &1 adl
R

(1) JHg 2, TS 1
(2) gHg 1, 9615 2
(3) UG 2, TS 2
(4) GOy 1, TS 1

1[Option ID=22345]
2[Option ID=22346]
3[Option ID=22347]
4[Option ID=22348]

Sl. No.28
QBID:91914243

What would be the area bounded by the curves y= \/(4— X );xz =—(2y) and x=y

(1) 3.474
(2) 3.142
(3) 3.27
(4) 3.386

aw y— \('(4—.5);13 =—(2y) TN x=y BRI HGK & TG
(1) 3.474

(2) 3.142

(3) 3.278

(4) 3.386

1[Option ID=22389]

2[Option ID=22390]

3[Option ID=22391]
4[Option ID=22392]




Sl. No.29
QBID:91914244

If A and B are two sets then AU (A N B) will be equal to
1) B

2) A

(3) AF

(4) B®

4% A B &I Y= §. d6 AU (A N B) BT HF GHTT:
(1) B

@ A

(3) AC

4) B

1[Option ID=22433]

2[Option ID=22434]

3[Option ID=22435]
4[Option ID=22436]

Sl. No.30
QBID:91914245

If A, B. C are subsets of M, then C % (A° U BY)
(1) (CxA)N(C=B)

(2) (CxB)N(C=xA)

(3) (C=xA)U(AC = B)

@) (CxA=B)

afd A, B. C. M & FUHHY § Al C x (A U B) BT A BRI
(1) (CxA)N(CxB)

(2) (CxB)N(CxA)

(3) (CxA)U(AC = B)

(4) (C=A~=B)

1[Option ID=22477]

2[Option ID=22478]

3[Option ID=22479]
4[Option ID=22480]

Sl. No.31
QBID:91914246

The Solution of differential equation xdy — ydx = 0: is
(1) Ahyperbola

(2) A parabola

(3) Acircle

(4) Astraight line

Sfaae GHIDRU xdy — ydx = 0; B1 8¢ GHIE:

(1) U HfqwRaad

(2) U Wdaiy

3) Uddd

(4) U®H TRA 3@1

1[Option ID=22521]
2[Option ID=22522]
3[Option ID=22523]
4[Option ID=22524]

Sl. No.32
QBID:91914247

The family of curves for the equation y = Bx + B*, where B is a constant; is represented by equation of degree
11
(2) 2
(3) 3
4) 4

FHIER y = Bx + BY, & AU ah-TE. (761 B TP (RIS §). GHIHIU DI soft (&) g1 et s 81
1




(1)
(2)
(3)
(4)

e o 2

1[Option ID=22565]
2[Option ID=22566]
3[Option ID=22567]
4[Option ID=22568]

Sl. No.33
QBID:91914248

Please find the ratio in which a line 3x + 4y = 2 divides the line segment joining A(-2. —3) and B(4. 6)
31

17

25

17

19

17

12

17

[&7g A(—2. —3) TUT B(4. 6) DI SIlS dldl TERIS Pl ¥l 3x + 4y = 2 g 3urd J diedl g2
31

17

25

17

19

17

12

17

1[Option ID=22593]
2[Option ID=22594]
3[Option ID=22595]
4[Option ID=22596]

1)

(2)

(3)

(4)

(1)

(2)

(3)

(4)

Sl. No.34
QBID:91914249

Following instruction :

x+1 y42 =z41 X2 y+I 2-3
Consider the lines m = = 2 = and #: = ) =
3 I 2 1 2 3

The unit vector perpendicular to both m and » is

_i_7}45 %
w =TI EOk

5V3

_# ‘15 >

2y = 7i+5k

55
)—9?—?j‘+5;€
53
—i—7j+5k

J75

3

(4)




T H I, T

m=x+12y+2::+ian£—2:y+2=:—3
3 ] 2 1 74 3
m @ n Gl & dead Uhd JI™ BIT-
o —i=Ti+5k
53
@ —i+Tj+5k

5\5
)—9?—?}+5f€
53
—i—7j+5k

J75

3

(4)

1[Option ID=22597]
2[Option ID=22598]
3[Option ID=22599]
4[Option ID=22600]

Sl. No.35
QBID:919142410

Following instruction :

r+1 y4+2 z+1 x—2_y+2

3 1 2 1
The shortest distance between m and » is
15

53
17

3
15

V3

1)

(2)

(3)

(4)

3 1 2 1 2 3

11153?11%%357&%7?@%:
15

553
17

73
15

V3
5

W - x=2 yp+2 z-3
¥l _gd ¥l g e

1)
(2)

(3)

(4)
53

1[Option ID=22305]
2[Option ID=22306]
3[Option ID=22307]
4[Option ID=22308]

Consider the lines gy == — = and 1= = =
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Following mstruction :

x+1 y+4+2 z+1 x—2 y+2 z-3
= ] and 7 = =
3 1 2 1 2 3

Consider the lines m =

The distance of the point (1.1.1) from the plane passing through the point (1. -2, —1) and whose normal is perpendicular to both the lines
m and n

15
1) —F—
73
- 13
53
- 8
J75
29
(4)

53
f&7g (1. -2, 1) ¥ oR- aTd dd 9 165 (1.1.1) I 521 I1d P, 61 11 W@ 1 74T » YA W d9ad o | Tl
Rl :y+2: z+1 = n:x—2:y+2: 2;3 2z 2

3 1 2 1 2
15
1) —=
73
. 13
53
8
3) ——
75
29
(4)

53

1[Option ID=22309]
2[Option ID=22310]
3[Option ID=22311]
4[Option ID=22312]
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Ifn(A) =5 and n(B) = (7). then the number of relations on A » B is
(1) 235

(2) 35
ﬂ
@

25

* 3

afg n(A) = 5T n(B) = (7) §. 6 A x B TR =/ &I T ghft -
(1) 2%

(2) 35
ﬁ
3 25

1[Option ID=22313]
2[Option ID=22314]
3[Option ID=22315]
4[Option ID=22316]
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Let X and Y be two sets containing 4 and 2 clements respectively. Then the number of subsets of the sets of the setY x X, 15




(1) 256
(2) 275
(3) 219
(4) 510

X 3R Y & HY =4 § (o71ds PU: 4 3R 2 &R § dl 9=y Y « X & SUSH=| &1 9T ghi:

(1) 256
(2) 275
(3) 219
(4) 510

1[Option ID=22317]
2[Option ID=22318]
3[Option ID=22319]
4[Option ID=22320]
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In a school of 300 students, every student reads 5 newspaper and every newspaper is read by 60 students. The total number of newspaper
18

(1) 25

(2) =30

(3) <20

(4) =50

300 et ardl v faenm 4. ude dendl 5 SRaaR Ugdr 8. @ Ud® SraaR 60 faemdis gR1 Ugl oidl ¢ | $d SRaaR| & 9=

(1) 25

(2) =30

(3) <20

(4) =50

1[Option ID=22321]
2[Option ID=22322]

3[Option ID=22323]
4[Option ID=22324]
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Let A and B be two non-empty subsets of set X such that A is not a subset of B, then
(1) Ais always a subset of complement of B

(2) B isalways a subset of A

(3) Aand B are digjoint

(4) A and the complement of B are always non-disjoint
e TG X P & SfRad SUNH=Y A 3R B 5 USR § oe! I SU9T=d el ¢ df
(1) A9SAB & @ &I 39-90=d §

(2) B US4 AT 39-9=0 ©

(3) ATB IRYF

(4) ATYTB T I GH YR gl gill

1[Option ID=22325]
2[Option ID=22326]
3[Option ID=22327]
4[Option ID=22328]
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% . . .
Area bounded by parabola v = x and straight line 2y =x is

~
[
~

~
N
~

3)

Lo LI b L] -




4) 4
3
TR0 v = x d TR TG 2y = x & R o & P &Thd &

1
-

2 LI

(2) —

(4)

W | b LI W

1[Option ID=22329]
2[Option ID=22330]
3[Option ID=22331]
4[Option ID=22332]
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2 R 25
Area bounded by curve y* = x: and y = | x |. in square units is

1)

(2)

S|t O = L = L2

[

by =x: Ty = x| GRIUOH §9 D1 &A5A T PR 1 o

h O — | = Lot

4) —

(o]

1[Option ID=22333]
2[Option ID=22334]
3[Option ID=22335]
4[Option ID=22336]
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ff«* xde
* Jai+x
1) a(\.@—l)
(2) ff(ﬁ+l)
3) a(l—xﬁ)
@ 2445




ff«’ xdx _
(€))] a(ﬁ—l)

(2) a(ﬁ—l—l)
(3) a(l—\ﬁ)
@ 2445

1[Option ID=22337]
2[Option ID=22338]
3[Option ID=22339]
4[Option ID=22340]
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J‘ a '

i f > "\"1
ﬂ.. a” +x° _.]

1 3"J'E_l"
(1) EG t: 3||

1 3im 1
@ —a|l—+=
16791273
@ L (m_1
16&’3 4 3
1 1
@ —=\3+3)
16a- =
ca  xtdx B
Jo .
l:._rff"-i-x"_.
1 3(n 1
@ —=a t.4 =
1 3im 1
@ —a|—+
57 \3+3)
@ —(E_1
16&’3 4 3
1 1
@ —=\3+3)
16a ' R

1[Option ID=22341]
2[Option ID=22342]
3[Option ID=22343]
4[Option ID=22344]
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m

sinx
fﬁ 3 dx =
0 cos

-

™

]
I

~
N
~

~
W
~

(4)

W ] = W=




T
—sinx

f(’ 3 de=
0 cos

1
1 —
6
1
2 -
3
1
(3) —
2
2
@ —
3

1[Option ID=22349]
2[Option ID=22350]
3[Option ID=22351]
4[Option ID=22352]
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Identify the name of the above molecular shape
(1) Octahedral

(2) Square pyramidal

(3) Bigphenoidal

(4) Trigonal bipyramidal

RIS 3] PR & =4 Pl UGN
(1) IVHEY

2 i e

3 fTgwHEen

4 Beni-fg-fauesa

1[Option ID=22353]
2[Option ID=22354]
3[Option ID=22355]
4[Option ID=22356]
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The bond order between oxygen atoms in ozone molecules is
11

2) 2

(3) 1.5

(4) 1.66

I & S Sifadior TRATs) & &9 a8 HH F1 5
1) 1

(2) 2

3) 1.5

(4) 1.66

1[Option ID=22357]

2[Option ID=22358]

3[Option ID=22359]
4[Option ID=22360]
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Paramagnetism arises from the presence of unpaired electrons, each such electron having a magnetic moment associated with its spin
angular momentum and orbital angular momentum.

W) p=n\n+2
@ p=f(n(n+2))
@) p=n,(n-2)

@ 11=n,/(2n)

SR goiae |- &1 JUIRYTT ¥ WRIgad@ Jdd gldl 6. UHI Udis goide 4 99 9 SATgUl I&dl 8. Sl (67 S{u-l el Hivi
YU @ Hefig HIvig SMeu= & 1y gST e gl

W) p=nn+2

@ p=f(n(n+2))

@) p=n,/(n-2)

@ pu=ny(2n)

1[Option ID=22361]
2[Option ID=22362]
3[Option ID=22363]
4[Option ID=22364]
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Keto-enol isomerism is an example of
(1) enantiomerism

(2) stereoisomerism

(3) tautomerism

(4) conformers

Plel-SHId THIGT BT U IRl &
(1) yfdfets vuar

(2) fAfqH THETdl Ul

(3) Faragad

(4) Iout

1[Option ID=22365]
2[Option ID=22366]
3[Option ID=22367]
4[Option ID=22368]
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Which one of the following molecules is not aromatic
(1) Naphthalene

(2) Furan
(3) Cyclobutadiene

(4) cyclotetradecaheptacne

fFofifed O 3 oF 91 e wWifes 8 8
1) JudferH

(2) WA

(3) WEAAISel-STS-5

(4) HEaal-cel-adl-gPA

1[Option ID=22369]
2[Option ID=22370]
3[Option ID=22371]
4[Option ID=22372]
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Which one of the following statements is not false?




(1) Aromatic compounds are more reactive than antiaromatic compounds
(2) Antiaromatic compounds are more reactive than aromatic compounds
(3) Antiaromatic compounds are aliphatic in nature

(4) Antiaromatic compounds are always diamagnetic

Frafafed o 3 oiH-91 are TTad 78 8

(1) WHfew A, T-REeE 9ifie! @ wure fmaeia g1
2) TS 9ife, e diffte! I surer fearsia g1
() TR-REfles diffe wure & wfabfes B

4) TT-REeE Ao 9ea ulagea i g

1[Option ID=22373]
2[Option ID=22374]
3[Option ID=22375]
4[Option ID=22376]
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An example of the activator molecule required for the reaction of primary alcohol to produce halo-alkane is

(1) Sodium Chloride
(2) Aluminum chloride
(3) Silver Chloride

(4) Zinc Chloride

TP U ied U gal-Ucd Sdliad B &1 Widihal & (o1 STawad Aihad® U] B 3360l o-
(1) IfsgH ®RES

(2) TgHan wiREs

3) UeR FIRES

(4) SiP WRES

1[Option ID=22377]
2[Option ID=22378]
3[Option ID=22379]
4[Option ID=22380]
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Primary aromatic amines yield diazonium ions in a solution of

(1) Sodium Nitrite

(2) Sodium Nitrate

(3) Nitrous Sodium

(4) Ammonium Nitrate

WD QIR St fdd faea # SISUEI-aH g Had HRd &
(1) HIf$gnEeRe

(2) HifsgH AEde

(3) Agcd qifsay

(4) 3OTH AEce

1[Option ID=22381]
2[Option ID=22382]
3[Option ID=22383]
4[Option ID=22384]
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Molecularity of a bimolecular reaction is
(1) 1

2 2

(3 15

(4) 1.6

fg-3nfiae ufafsear &t smufgedr
(1 1




2 2

3) 1.5

(4) 1.6

1[Option ID=22385]
2[Option ID=22386]

3[Option ID=22387]
4[Option ID=22388]
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To calculate Pauling electronegativity for an element, it is necessary to have data on the energies of at least two types of
covalent bonds formed by that element

(1) hydration

(2) dissociation
(3) sublimation
(4) proton transfer

TS dcd B U131 SAae-AD RISl B TUFT B3 & (078, 39 dd & GRI §41E 7T $H I $H & UHR & Jogdiel A6y & g
Fuitell @1 SeT Hawd g

(1) FageH

) fagreH

(3) Jedura

(4) e IR

1[Option ID=22393]
2[Option ID=22394]
3[Option ID=22395]
4[Option ID=22396]
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law governs colligative properties
(1) Raoult's law
(2) Boyel's Law
(3) Charles Law
(4) Avagadro's Law
JEETUEE P I dRa e
(1) A3y & Fam
@) gOe oI faH
3) T o1 FaH
4) LA &1 Fae

1[Option ID=22397]
2[Option ID=22398]
3[Option ID=22399]
4[Option ID=22400]
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O — H bond distance is
(1) 95.7 pm

(2) 85.7pm

(3) 105.7 pm

(4) 92.7 pm
O-HEY B gd &
(1) 95.7 pm

(2) 85.7 pm

(3) 105.7 pm

(4) 92.7 pm
1[Option ID=22401]
2[Option ID=22402]

3[Option ID=22403]
4[Option ID=22404]
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The formulae (RP), belongs to:
(1) Organophosphorous (O)
(2) Organophosphorous (T)
(3) Organophosphorous (II)
(4) Organophosphorous (IV)
I3 (RP), ¥ A B

(1) HTHBRPIRE (0)

(2) ATHGBIRE (1)

(3) SHRIHBIRBRY (II)

(4) RTHIDRBRE (1V)

1[Option ID=22405]
2[Option ID=22406]
3[Option ID=22407]
4[Option ID=22408]

Sl. No.59
QBID:919142434

The hybridization state of boron in diborane is
(1) 3P
5
(2) sp”
(3) 3133
() dsp?
IR B SR-aR T e fufa a1 &
(1) 3P
(2) 3132
(3) 3133

(4) dsp?

1[Option ID=22409]
2[Option ID=22410]
3[Option ID=22411]
4[Option ID=22412]
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Amongst the following. the most reactive carbonium ion is:
(1) Methanium

(2) Ethanium

(3) Ethenium

(4) Ethynium

Frafafea o @ e aifte orareita safas esmE
) HgHgy

2 zUFTE

() i

4) sumfag

1[Option ID=22413]
2[Option ID=22414]
3[Option ID=22415]
4[Option ID=22416]
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As a consequence of its open structure, water is one of the very few substances that expands on freezing (at 0°C. liquid water has a density
of 1.00 g/mL). whereas ice has a density of:

(1) 0.92 g/mL
(2) 0.82 g/mL




(3) 1.0 gmL

(4) 1.12 g/mL

Y Gell TR & YT, Ul §gdl & 4 U UHI dd . off o UR H1Rd 8T 8. (0°C UR v U1 &1 -9 1.00 g/mL §)
Safe 9 BT g

(1) 0.92 g/mL

(2) 0.82 g/mL

3) 1.0 g'mL

(4) 1.12 g/mL

1[Option ID=22417]
2[Option ID=22418]
3[Option ID=22419]
4[Option ID=22420]
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The dielectric constant of a solvent is a measure of its ability to keep opposite charges apart. The dielectric constant of water is among
highest. The value of dielectric constant for water is:

(1) 80

(2) 90

(3) 100

(4) 72

US HIES 1 RIAGYdie, 39! [dUail STl Bl gr 3@ S &Hdl &1 HIUS § | Ul b WRIdggdie gad HiUs ¢ | Ul & fag
(1) 80

(2) 90

(3) 100

(4) 72

1[Option ID=22421]
2[Option ID=22422]
3[Option ID=22423]
4[Option ID=22424]
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Most of the biological molecules have both polar (or ionically charged) and nonpolar segments and are therefore simultaneously
hydrophilic and hydrophobic. Such molecules (for example fatty acids) are called as:

(1) Simple ionic

(2) Non-ionic

(3) Monopathic

(4) Amphipathic

ftrpaR-oifae 0] & &1, YdTg (@1 STa-d: S{3UiRd) 3 Sfydid §s g &. d SHIy d Y I SeRF d Saari eid & 0
3] (FETRRVI & ATy a1-3f3T), BEald &:

(1) YR SAHD

(2) 3F-3MEi-H

(3) UHPH-Ydal

(4) Iug-Hadl

1[Option ID=22425]
2[Option ID=22426]
3[Option ID=22427]
4[Option ID=22428]
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If 5§ gram of pure water is added to 1000 mL of pure water. what would be the molarity of the solution?
(1) 55.0M
(2) 555M
(3) 56.0M
(4) 565 M

A1 Y& O BT 5 1M 1000 mL e, 35 e & e a1 @i, o faeae @1 diexdr a1 g
(1) 55.0M




(2) 555M
(3) 56.0M
4) 565 M
1[Option ID=22429]
2[Option ID=22430]

3[Option ID=22431]
4[Option ID=22432]
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If at constant temperature, for a reaction the change in enthalpy is negative and the change in entropy is positive, which one of the
tollowing statements is not wrong:

(1) It is spontaneous (exergonic) at all temperatures.
(2) Itis spontancous only at temperatures below T - delta H / delta S.
(3) It is spontancous only at temperatures above T - delta H / delta S.

(4) It is unspontaneous (endergonic) at all temperatures.

Uﬁ%@r{mﬂwwm%m@ﬁﬁ §Cdld TPRIE § d U2l § §ead RS ¢ | FafafEa § 9 oH- are 9@
S

) 78 9 auEHl R a4: vafdd (Gotadh) g1

(2) T8 $ad T-Seel B/ Seel s ¥ 4% 999 1R Td: vafdd g1

(3) U8 Had T -Seel H/ Seel s ¥ 3= d199H IR Wa: Uafdd gl

4 7 Tt AU R 3RGa: Vafdd (S g1

1[Option ID=22437]
2[Option ID=22438]
3[Option ID=22439]
4[Option ID=22440]
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If at constant temperature. for a reaction the change in enthalpy is positive and the change in entropy is negative, which one of the
following statements is true:

(1) It is spontancous (exergonic) at all temperatures.

(2) It is spontancous only at temperatures below T - delta H/delta S.

(3) It is spontaneous only at temperatures above T - delta H/delta S.

(4) It is unspontaneous (endergonic) at all temperatures

7fg AR IEH |, te fifeHar & foy tRied & gde IoRE® ¢ d T J g0 1eREs ¢ | Fafifia § IR @ sy
qA?

(1) 78 Tff Al R e wafda Geiadh) g

(2) YgHad T - Seel H/ Seel S U [ dIuHM R wWe: vafdd gl

(3) UE HaW T - Secl H/ Seel S ¥ 3od d9HT- UR &d: Waldd |

() g Tt aEH R 3Raq: vafdd (Soreeh) g1

1[Option ID=22441]
2[Option ID=22442]
3[Option ID=22443]
4[Option ID=22444]
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At constant pressure and temperature, Delta G for a biological process represents its
(1) Maximum internal Energy
(2) Minimum internal energy

(3) Maximum recoverable Work
(4) Minimum recoverable work

(&R ZaTe g aIYHE R, U S Hierdl & R 39 Seel G axidl &

(1) e HIRD FHoil
(2) GAqH IR Holl

(3) SHfHan GRIgd

(4)




AT §RIGd B

1[Option ID=22445]
2[Option ID=22446]
3[Option ID=22447]
4[Option ID=22448]
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Most of the biological molecules, are thermodynamically unstable to hydrolysis but, nevertheless, spontansously hydrolyze at biologically
ingignificant rates because;

A large negative value of Delta G does not ensure a chemical reaction will proceed at a measurable rate. This depends on the detailed

1 : : e
M) nechanism of the reaction. which is independent of Delta G.

A large positive value of Delta G does ensure a chemical reaction will proceed at a measurable rate. This depends on the detailed

2 : : S
@) nechanism of the reaction. which is dependent of Delta G.

A large negative value of Delta G does ensure a chemical reaction will proceed at a measurable rate. This depends on the detailed

3 : 2 J :
() nechanism of the reaction, which is dependent of Delta. G.

A large positive value of Delta G does ensure a chemical reaction will proceed at a measurable rate. This depends on the detailed
mechanism of the reaction, which is independent of Delta. G.

W%ﬁﬁﬂ.aﬁm&imrﬁmﬂﬁﬁu 3R BT & WReg, i ff. Sifd® 7770 3} 1R 4. 81 9ia siuufed gid © it

%ﬁeﬁwaﬁwwmﬁ%ﬁaﬂ?ﬁ%wwﬁﬁaﬁwmmaméﬁ | g 3l & aRafa®
Y ek acd 2 i 2wt 6 @i B

. S G B U g0 GPRIAD T U8 H1d Bl § 1 U Iaities sNfhar Ara= i @ W gl 0 siffhar & arafas
TR MR 8, &l P S w21

@) S G B U Fo! APRIAD 1 I8 GHI9d Bl ¢ U Ja1ai-as ATTHI1 A19 g <X IR 81l | 98 ST & aRaid® aa
R AR e 2. o fp s R B

@ S G DI TP To! THRIAD ] T8 GHET DRall § [ U I iTufehar a1 9 & W er | I8 sififear & fawaia
T@ R MR FA g 7 S wAR A8 81

1[Option ID=22449]
2[Option ID=22450]
3[Option ID=22451]
4[Option ID=22452]

(4)
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The equilibrium constant of a reaction may be calculated from
(1) Gibbs free Energies

(2) Helmbholtz free energies

(3) Standard free energies

(4) Arrhenius factor

S Affpm P eI RRE S v AfFmoTIeae:
() T8 gad el

(2) Seiecd gad Sl

(3) HHS gad ol

(9) RFTY geh

1[Option ID=22453]

2[Option ID=22454]

3[Option ID=22455]
4[Option ID=22456]
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Any deviation from equilibrium stimulates a process that tends to restore the system to equilibrium. This principle was given by:
(1) Avagadro
(2) Arrhenius

(3) Le Chatelier
(4) Gibbs

FHTGRT 9 B+ AT U vishan @1 Sfoid Sxdl & ol [ ava @1 JF: RIIMUd B 1 Ja™ HRdl 6| 96 sl fadr o
(1) UarT!




@) RFTY
(3) d-deumR
(4) fireg

1[Option ID=22457]
2[Option ID=22458]
3[Option ID=22459]
4[Option ID=22460]

Sl. No.71
QBID:919142446

The standard state convention commonly used in physical chemistry defines the standard state of a solute as that with
(1) Unit Enthalpy at 25°C and 1 atm

(2) Unit Entropy at 25°C and 1 atm

(3) Unit Activity at 25°C and 1 atm

(4) Unit Work function at 25°C and 1 atm

T AR §HFTH AHIG: He-38e B SUanT &1 o1 8. off & A T [0 SaR Bl IR Heal 8
(1) 25°Cd1 atm WI{W@?EH

(2) 25°Cd 1 atm WU,WQ?:TE?[

(3) 25°C G 1 atm TR UHS MAAY

(4) 25°C T 1 atm TR U b1 Ha

1[Option ID=22461]

2[Option ID=22462]

3[Option ID=22463]
4[Option ID=22464]
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The hydrogen 1on activity is defined as at the physiologically relevant PH of 7.
(1) Zero

(2) Unity

(3) Multiplicity

(4) Infinity

BIgSIor g nfafafd & yRifite s p 7R P TRe IR g o 2|
) A

) THH

(3) §gePY

(4) 3d

1[Option ID=22465]

2[Option ID=22466]

3[Option ID=22467]
4[Option ID=22468]
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An amino acid can therefore act as either an acid or a base. Substances with this property are said to be
(1) monoteric

(2) amphiteric

(3) ftriteric

(4) tetrateric

U U o 39 aoig © T1 dl U S 91 d1 U &R &1 a¥g &1 &l ¢ | 59 WS R &1 1[uiadl ald Uary &1 &gl ol o

(1) THyHf
(2 Fygyst
@) Bedf
4) FgwHl

1[Option ID=22469]
2[Option ID=22470]




3[Option ID=22471]
4[Option ID=22472]
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The largest, standard. naturally occurring alpha amino acid in biological systems 1s:
(1) Phenylalanine

(2) Tyrosine

(3) Phenyl

(4) Tryptophane

Sfde-awa o 9a% 551, TF®, WP fae 9 I 514 ardl, el SifEF sra Fu i daH we?
(1) T Tar-A=

(2) TR

() g

(4) fepid

1[Option ID=22473]
2[Option ID=22474]
3[Option ID=22475]
4[Option ID=22476]
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The smallest, standard, naturally occurring alpha amino acid in biological systems is:
(1) Glycine

(2) Alanine

(3) Phenylalanine

(4) Lysine

Sifd® a1 I IRl S aTel 9ad Siel, AHS. G iad $U U 5 ardl, 3eT U] S S g 2
) TR

(2) TarHa

(3) Tld uan==

(4) A

1[Option ID=22481]
2[Option ID=22482]
3[Option ID=22483]
4[Option ID=22484]

Sl. No.76
QBID:919142451

Which one of the following is an amino acid with a thiol group?

(1) Alanine
(2) Phenylalanine

(3) Cysteine

(4) Lysine

fafafad o O S T snd, i g & 91y gidl 82
(1) Tar-Aa

(2) BHd ga-=

) fHEH

(4) TR

1[Option ID=22485]
2[Option ID=22486]
3[Option ID=22487]
4[Option ID=22488]

Sl. No.77
QBID:919142452

Which one of the following is acidic amino acid?
(1) Aspartate

(2) Alanine




(3) Valine
(4) Isoleucine

frafaRad § 3 & F 1 TEE! o, SR 82
(1) THRcE

(2) TAm=A

3) afe=

(4) 3MEH-GRHA

1[Option ID=22489]
2[Option ID=22490]
3[Option ID=22491]
4[Option ID=22492]

Sl. No.78
QBID:919142453

The pH at which a molecule carries no net electric charge is known as its
(1) Neutral Point

(2) Isoelectric Point

(3) Inversion Point

(4) Quadrupole point

a8 pH for TR 370] fort faega omawr &1 a8 e o=aT & Feamd &
(1) IR fag

(2) gHfgyafeg

(3) EpHUNG

(4) TP 43

2loption 1D-22494]

3[Option ID=22495]
4[Option ID=22496]

Sl. No.79
QBID:919142454

Which one of the following does represent Glx ?
(1) Gly

(2) Glu

(3) Gla

(4) Glm

clx Fafafad § 3 foas! gafar g2
(1) Gly
(2) Glu

(3) Gla
(4) Glm

1[Option ID=22497]
2[Option ID=22498]
3[Option ID=22499]
4[Option ID=22500]

Sl. No.80
QBID:919142455

Which one of the following amino acid is not optically active?
(1) Ala

(2) Leu

(3) Gly

(4) Phe

[FrafeiRad # § P IF-a1 T ot yaur yuie T8l 82

(1) Ala

(2) Leu

(3) Gly

(4) Phe




1[Option ID=22501]
2[Option ID=22502]
3[Option ID=22503]
4[Option ID=22504]

Sl. No.81
QBID:919142456

Molecules that are nonsuperimposable mirror images are known as

(1) Enonamers
(2) Elastomers
(3) Enantiomers
(4) Non-Isomers

31u] Sl fp fa-erenredt gy wfdfds 181 8. e
(1) AR

() FAREIR

(3) Hlafamsy (SUCI3mR)

(4) A-FHEGH] (AH-ASHHER)

1[Option ID=22505]
2[Option ID=22506]
3[Option ID=22507]
4[Option ID=22508]

Sl. No.82
QBID:919142457

All a -amino acids derived from proteins have the stereochemical configuration.
T
(2) D
3) L
@4 F

Tuft 2-uHiAT 3, W1 T Safed §1d €, 3931 ffomRrate TaT e el

1) 7
(2) D
3) L
4 F
1[Option ID=22509]
2[Option ID=22510]

3[Option ID=22511]
4[Option ID=22512]

Sl. No.83
QBID:919142458

The absolute configuration of L-amino acid residues may be represented by acronym.
(1) NORC
(2) CORN
(3) RNCO
(4) ORCN

LU ot 2w () #t Ry famama Tféred U gRI <2far apar g |

(1) NORC
(2) CORN
(3) RNCO
(4) ORCN
1[Option ID=22513]
2[Option ID=22514]

3[Option ID=22515]
4[Option ID=22516]

Sl. No.84
QBID:919142459

DNA has equal numbers of adenine and thymine residues (A =T) and equal numbers of guanine and cytosine residues (G = C). These
relationships, known as

(1) Crick Rules

(2) Watson Rules

(3) Chargaff Rules




(4) Stanley Rules
DNA B 90 Ufsf1 9 urfie (A = T) 3aRy RrS) §. 9 99 W14 3R 9152 (G = ¢) 3y (Ug) 71 78 Wad Sgandl o

(1) fore (HTH
(2) dieg |
(3) IR g
(4) = g

1[Option ID=22517]
2[Option ID=22518]
3[Option ID=22519]
4[Option ID=22520]

Sl. No.85
QBID:919142460

‘Which non-metal is in liquid state at room temperature?
(1) Hg

(2) Br

3) 8

(4) Se

HUR & AGHH TR BH-I ST ST G H g 82
(1) Hg

(2) Br

3) 5

(4) Se

1[Option ID=22525]

2[Option ID=22526]

3[Option ID=22527]
4[Option ID=22528]

Sl. No.86
QBID:919142461

Which element has smallest atomic radius?
) C

(2) N

3) O

4) F

forey g 1 foroar gHas &2
1) C

(2) N

3) O

4) F

1[Option ID=22529]

2[Option ID=22530]

3[Option ID=22531]
4[Option ID=22532]

Sl. No.87
QBID:919142462

Element X forms a chloride with the formula XCI. which is a solid with a high melting point. X would most likely be in the same group of
the Periodic Table as

(1) Li

(2) Mg

3) Al

@) si

a0 X FARIZS &1 & [o1HaT 92 XCI 8. U8 319 ¢ Yl SHST 2aulid 3 eidl ¢ | X HId: 3dd JRUM & & §HH
g H g

(1) Li

(2) Mg

@) Al

4) Si

1[Option ID=22533]




2[Option ID=22534]
3[Option ID=22535]
4[Option ID=22536]

Sl. No.88
QBID:919142463

An atom has electronic configuration 2, 8, 7. What is the atomic number of this element?
(1) 15
(2) 17
(3 19
4) 21

TS URATY] BT SACI1P [G-014 2. 8. 7 T | 59 Tcd BT URHT] SHHID,/ ST 7T GHT 2
(1) 15

2) 17

(3) 19

(4) 21

1[Option ID=22537]

2[Option ID=22538]

3[Option ID=22539]
4[Option ID=22540]

Sl. No.89
QBID:919142464

Litmus solution is a purple dye. which is extracted from lichen, a plant belonging to the division.
(1) Thallophyta

(2) Hallophyta

(3) Allophyta

(4) Tallophyta

i R

fereny faeae Ue dT-Ru® ¢ off {6 arge 9§ s iid fear mar g | die guft F a3
(1) YTIPrEe
(2) BATPEel
(3) TAlwiEe
(4) TAPIZel

1[Option ID=22541]
2[Option ID=22542]
3[Option ID=22543]
4[Option ID=22544]

Sl. No.90
QBID:919142465

When pH of rain water is less than . it is called acid rain.
(1) 3.6
(2) 4.6
(3) 5.6
(4) 6.6

Sid ST & U &1 pH I el & dl 59 39 a9l ®ed o
(1) 3.6

(2) 46

(3) 5.6

(4) 6.6

1[Option ID=22545]

2[Option ID=22546]

3[Option ID=22547]
4[Option ID=22548]

Sl. No.91
QBID:919142466

The atmosphere of planet Venus is made up of thick white and yellowish clouds of
(1) Sulphuric acid

(2) Hydrochloric Acid

(3) Sodium Hydroxide

(4) Water vapour and dust




48 U8 & argHUSd ST Hie 9the iR diar ared BEEIGI
(1) HHERD

(2) BIESIGING 3

(3) HIf$TH BISgIadss

(4) od ars 3R ¢@

1[Option ID=22549]
2[Option ID=22550]
3[Option ID=22551]
4[Option ID=22552]

Sl. No.92
QBID:919142467

Tooth enamel, made up of . which is the hardest substance in the body
(1) Calecium hydroxyoxalate

(2) Calcium hydroxyapatite

(3) Calcium hydroxysulphate

(4) Calcium hydroxycarbonate

RN J e Elare, off o IR & poRar verd 2|
(1) BIcRIgH ISl et

(2) HieTTH ERSENUCES

(3) BeRaH IRl Tethe

(4) Hfckrad gIssIad drEHe

1[Option ID=22553]
2[Option ID=22554]
3[Option ID=22555]
4[Option ID=22556]

Sl. No.93
QBID:919142468

Bleaching powder 1s produced by the action of chlorine on
(1) Dry slaked lime

(2) Wet slaked lime
(3) SodaAsh
(4) Salt petre

oot 9ol IR &t [T gRT Idd fasa ST 31
(1) AP gL

@) 3T g1 9
() HreIg
(4) U Uet

1[Option ID=22557]
2[Option ID=22558]
3[Option ID=22559]
4[Option ID=22560]

Sl. No.94
QBID:919142469

The chemical composition of Plaster of Paris is

(1) CaSO, -~H,0

2
3
3 CaPO, -4H,O
¢y CusO, -3H,0
TR 3 U P I+ Taed ©

(1) CasO, -~H,0

2 CaPO;-<H,0




5
(2) CaPOs, -ino
3) CaPO, -4H,0O
(a) CuSO, -3H,0

1[Option ID=22561]
2[Option ID=22562]
3[Option ID=22563]
4[Option ID=22564]

Sl. No.95
QBID:919142470

A solution turns red litmus blue. its pH is most probably is
1) 1

(2) 3.5

3) 7

(4) 10.5

Ta faauH ard foreny &1 -id o uivafdd Sar g | s9a! pu 9aifye dufag |
1) 1

) 35

(3) 7

(4) 10.5

1[Option ID=22569]
2[Option ID=22570]
3[Option ID=22571]
4[Option ID=22572]

Sl. No.96
QBID:919142471

The movement of electrically charged particles in a fluid under the influence of an external electrical field is called electrophoresis. It 13
used to separate

(1) Solute-Solvent system

(2) Mixed. Solutions
(3) Colloids
(4) Sugars

TS ovd 1 a6l [4gyd &7 & a1 faggd SMaiRid SUll &1 H=RU dggaehyl 90 Sedldl & | 9Pl Sugi DI YD
B 1 fbgr orar 3 |

() fgcra-faaas o

@ Ay faem=

(3) HASS

@) B

1[Option ID=22573]
2[Option ID=22574]
3[Option ID=22575]
4[Option ID=22576]

Sl. No.97
QBID:919142472

According to Bouguer's (or Lambert's) law. each layer of equal thickness of the medium absorbs
(1) Equal fraction of energy

(2) Energy in proportion to the hydrophilicity

(3) Energy in proportion to the number of single bonds

(4) Energy in proportion to aliphatie rings

T (Te) & o0 & SFER. A1 1 Ydd 99 A1) gag Saiiyd @l gl
(1) FHoll BT S

(2) il STeRMT & JHFU §

(3) Hol U Y B TS S FEEIE &

(4) FHoll Ufefhles aard & FHMYN ¢

1[Option ID=22577]




2[Option ID=22578]
3[Option ID=22579]
4[Option ID=22580]

Sl. No.98
QBID:919142473

If fsecz [7 — 4,1‘)0{1* = ¢ tan (7 - 4x:] + ( find the value of a.

1
a ——
4

3)

S =

(4)

af% fsecz['?—f-lx)dxzatan(:7—4x:]+(ﬂ edla B OA FuE I T

1
1) ——
4

(3)

S b=

(4)

1[Option ID=22581]
2[Option ID=22582]
3[Option ID=22583]
4[Option ID=22584]

Sl. No.99
QBID:919142474

If the reaction temperature is increased by 10 degrees centigrade, the reaction rate gets increased by:
(1) 2to 3 times
(2) 3to 4 times
(3) 4to 5 times
(4) 1to 2 times

gfe ST &1 aMqHHE 10°C SS/ Sl & dl il B &z g
@) 2H37A
(2) 3947
(3) 4Y 5T
(4) 1H 27

1[Option ID=22585]
2[Option ID=22586]
3[Option ID=22587]
4[Option ID=22588]

Sl. No.100
QBID:919142475

UV -V is spectroscopy is often used in bacterial culturing. OD measurements are routinely and quickly taken using a wavelength of
nm to estimate the cell concentration and to track growth.

(1) 300

(2) 400

(3) 500

(4) 600

UV - v Saeaiifd-siiary] dad- & urg: Suie gidl ¢ | Faffd U 9 digar ud 2figard nm & IS P ITURT OD

AY H SIS A5l Ua 9Y gis & o foar sman g

(1) 300

(2) 400

(3) 500




(4) 600

1[Option ID=22589]
2[Option ID=22590]
3[Option ID=22591]
4[Option ID=22592]




